IR L=4,657m

JKEERT  L=7, 130m2
KEADE, #E. THEOHE,
FRET  A=416m2
ZTOMEMFIFHREFREIE S,

Ny L .

i __.__'-'1

! m.'“AI- s

=

HRBEREBER (B8

mAMH ZE—THIEMN0R #hK

T E E

‘ ..!:':T_'__!,'E?"fi.::-".:s‘:'f.il::-- Tk

m AT |m§%| 1/6




HKBERRBERTE (B8

_|mBEWH ZE-—TEIEAI0E A

FoE R

# R

BEIH | mAmH |m§%| 2/6

R WD T Ted TR Tel 2 WOy




@-1
{BOOJ
I HERR
2,450 t=2. Ocm
-2
[
300
FHHEHE
2,250 t=1. Ocm
@-1
700
FHHETE
2,550 t=1. Ocm

600

2,700

1,550

1,330

IS

T HERE
t=0. bem

T HETR
t=7. Ocm

TR
t=0. 2cm

I

2,200

FRE

®-1,2
EHHERE

2100, 1500 =0. Sem
I %4 HKBEBEREBERR (B8
IHSH | WETWH ZE—THEN0E K
% g B OE B W
® R $=1:50
BEINRK mAfH E%%‘ 3/6




®-3
360
FHHTE
1760 t=1. Ocm
300
‘ TR
2, 400 t=2. Ocm
600
[—|
TR
2,400 t=0. 5em

600

T HETE
t=0. 1cm

IE% PKBEREBER (BE)
THEH | mAWT ZE—TBEEA08 K
& W ] OE N

& R $=1:50

BEIK

AT ‘E%%—‘ 4/6




[

FHHETE
1800 t=0. 5em
@-1
*’7 —’7
TR
1600 t=0. bem
@-2

TR
1650 t=0. 5em

600

R HETE
t=0. bem

FHHETE

t=1cm

2800

R HETE
t=1cm

®-2
FHHETE
1800 t=1cm
[
TR
2050 t=0. 5cm

TR
1500 t=lcm

@®

:

T HERE
800 t=1cm

@

1150 fﬁ?ﬁ%

o

¥R
1550 t=0. 5¢cm

@
M ]
T
2000 t=0. 5cm
I%3% POKBEREBER (BE)
IHGEF | mEHH ZEH—THIEAI0E A
E I B OE B N X
i R $=1:50
BEIHR =iy ) ‘ HEES ‘ 5/6




750

600

1850

T
t=0. 5cm

T
t=0. 5cm

FHHETE
t=0. bem

600

0
®
FHHET
t=0. 5cm
600

IE% HKREREBER (BE)
IEBH | mAMT ZE—TBEIEA08 #R
& ™ BOE HE W

L R $=1:50

EBEEHR

el ‘E%% ‘ 6/6




